@2 OF ® 4 @ 5

A Vb <2x-1< V27T S RISt A x E B T

® 6

(VB+1)+2<x<(V2T4+1)+2
1. X XX < x < 3. X XX
Lx=2,3




2. 12< yx<21 & TS AS x 9 g2 25 oot

v V vV V¥
ox  0X
il o ol
w [\S)

02
i
.

1.2 < yVx<21
144 < x<4.41
x=2, 3, 4




a=b+ olTb= VT AW, at b2l F o} A ool

= il

>
> =gt S

od -




74z9] Gol7k V5 + VG ol 3L Az Heolsk VI5 91 AP
5ol atelet.

> &
> EE D 5vV3+3V10

(V5 + V6) V15 = V75 + V90 = 5 V3 + 310




5. AFZHNA V2 = 1414, V6 = 2.449 & o], v0.02 + v0.06 <

|= R

Alae] f2?

O 3.863 @ 38.63 ® 386.3
@0.3863 ® 0.03863

/ 2 /| 6
v0.02 + V600 = m-ﬁ- 100

V2 V2
=15 T 1 = 01414+ 02449

= (0.3863




teiet.

S

g, va+ Vb ol g T

6

oM a =16, b =4 o|t}.
16+ V4=

49

3<x< —
Va +

3
Vb




x34y3 = 3(x? —xy+y?), ¥*+y? =6 A o, x*—y* O] FL& FSkoiet
,x>y)

w

[
H =

| 2
> ®EH: 1843

S5 ~
=yt = () (x+y)(x-y)
By =(x+y)(x% - xy+y?) =3(x%* - xy +)y?) o|BE=Z
Cx+y=3
X2 4+y2 =63 x+y=3°lA
4y = (x+)% - 2xy

6 =32 - 2xy
o3
. y—2

3
x2+y2=6ﬁrxy=§°ﬂ/\1
x4yt = (x-y)* +2xy
6=(x-y)2+3
L x—y= V3 (s x>y)

Lty =24y (x+y)(x-y)
=6x3x V3=18V3




A ], x2 4+ 4x -5 9] & otz

3+ V7 34T

(3—f)(3+f>_ 2

() (579

(1+ V7) (13 + V7)
(13+ w/'+12w/_+7)
+

<|




